MARCY PRO
SMITH MACHINE

SM-4903

~ R, A \Ye
%

IMPORTANT: Please read the Important Safety Notice and Assembly Information in

the Owner’s manual before assembling this product.

Assembly Manual

170515



m

WWW.marcypro.co

©IMPEX INC.



O©IMPEX INC. 2 WWW.marcypro.com



O©IMPEX INC. 3 WWW.marcypro.com



©IMPEX INC.

www.marcypro.com




X 4
Jm— (B
@9x6 69x 4
— (—wm
GOx 2 E)x2
— i .
P ( 3 T
X 50
JE—
oxh (’2 L
g T @x1
6Gx 12
g i © ©
&% 6 6Dx8 @x 125
0 i
Wl @x12 @x2
GO x 2
T S T T
@l @Dx6 69 96 6Dx6

©IMPEX INC.

5 WWW.marcypro.com




l ”
8

(—mmm 6 M10X3

@ G 2 vi0x ¥

M10

WWW.marcypro.com

©IMPEX INC.



l ”
8

2P
X
o
!
=
o
N

M10

20

20 @ %”

@ ©

WWW.marcypro.com

©IMPEX INC.



_1_ ”
8

on
X

(e}
—
=
©
—

M10

16

WWW.marcypro.com

©IMPEX INC.



4 MIOX 2 &

WWW.marcypro.com

1o

© 6 ©
o

(o]
o/o_4WAu

X = o ©
M4w_um

©IMPEX INC.



M10X3 §”

@

=<+

X
(@]
—
=
N

RY4

M10

10

22 0%

@ ©

WWW.marcypro.com

10

©IMPEX INC.



M6X 17

1

3# Allen Wrench(Tool)

WWW.marcypro.com

11

©IMPEX INC.



S
(AN
X
(-]
—
=
e

4 MIOX3 §”

. W
\J

LSBT/,
/4
-\

//v

\Y
Q\

WWW.marcypro.com

12

©IMPEX INC.



2 M6 >< 211_//

3% 4% Allen Wrench(Tool)

WWW.marcypro.com

13

©IMPEX INC.



MI6X1.5

3

® )k

w..\.\.\\\p\n,/... ===n
NN T

e 3 A A

=7 7/
rl/é\\i\ ’ /u
\

WWW.marcypro.com

14

©IMPEX INC.



A# Allen Wrench(Tool)

WWW.marcypro.com

15

©IMPEX INC.



@) 6mm 2 MIOX1

f—mmm 2 MIOX2”
G [ mmm4 MIOX2

- 6 MIOX1
w2 M10X1

Col— 00w oo
X X N

¢
G mmm 2 M10X3

DO —
S

&)
&
&
@ © =it @ © | of
{

©IMPEX INC. 16 WWW.marcypro.com



WWW.marcypro.com

7# Clip hooks

4

1

& e 000\

i

4

et/
A ‘V‘.i e

o\ By 4
4 4‘\4 W [N
\S ’\V

17

©IMPEX INC.



www.marcypro.com

©IMPEX INC.



www.marcypro.com

19

©IMPEX INC.



@ © 2 0% ©® I 2 MO

©IMPEX INC. 20 WWW.marcypro.com



M10

3 N

o= —Ie
S - - S
X X ol
< =
i ] S
= =

WWW.marcypro.com

21

©IMPEX INC.



6) ——mmm 6 MIOX3}

®@ © 12 07 m

6 M10 6 Allen Wrench(Tool)

©IMPEX INC. 22 WWW.marcypro.com



1 MI2X 6 17

WWW.marcypro.com

23

©IMPEX INC.



1 MI0X 6 37

A

6% Allen Wrench(Tool)

WWW.marcypro.com

24

©IMPEX INC.



M8 X %//

1

@ Cmm

WWW.marcypro.com

25

©IMPEX INC.



©IMPEX INC. 26 WWW.marcypro.com



IMPEX® INC.
2801 S. Towne Ave. Pomona, CA 91766
Tel: (800) 999-8899
Www.marcypro.com
support@impex-fitness.com

©IMPEX INC.

27

WWW.marcypro.com



http://www.impex-fitness.com/

